\$81,205.40



### **Missouri Department of Transportation Contractor's Pay Estimate Summary**

Pay Estimate Created Date: August 1, 2022

Progress Estimate N	umber	Contract ID Prime Contractor	220415-H09 r C-Hill Civil Contr	actors, Inc.			Original Contract Amount Net Change Order Amount Current Contract Amount	\$206,931.53 \$0.00 \$206,931.53
Approval Date								By User
August 2, 2022			Generated and	Approved (	and should be consi	dered Draft) at t	he Project Office Level by	bollis1
August 2, 2022		R	eviewed and Appro	oved (and s	should be considered	I Draft) at the R	esident Engineer Level by	bollis1
August 3, 2022				Reviewed a	and Approved at the	Central Office (	Controllers Office Level by	ramses1
Original Completion	Date	Current Cor	npletion Date	Actua	al Completion Date	% (	of Current Contract Amount (	Complete
September 1, 202	22	Septemb	er 1, 2022				39.24%	
	Contract	Informational Dat	tes		Milestor	nes		
Date Description	Original	Completion Date	Current Complet	tion Date	No Milestones Exis	t for Contract		
Acceptance Date								
Awarded Date	May 4, 2	022	May 4, 2022					
Letting Date	April 15,	2022	April 15, 2022					
Notice to Proceed Date				June 6, 2022				
Open to Traffic Date								
Work Began Date								

Contract Total Pa	y For Estimate No. 1				
		This Estimate	Previous	To Date	
220415-H09					
	Total Posted Items Pay	\$81,205.40	\$0.00	\$81,205.40	
	Gross Item Adjustments	(\$3,816.66)	\$0.00	(\$3,816.66)	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
	,		\$0.00	\$77,388.74	
<b>Contract Total Pa</b>	yable This Estimate:	\$77,388.74			

### Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JSEM0003	0010	2022010	REMOVAL OF IMPROVEMENTS	LS	\$16,169.290	1	\$16,169.29
	0040	3030600	FURNISHING ROCK BASE MATERIAL	SQYD	\$17.410	1,123	\$19,551.43
	0050	3030610A	PLACING ROCK BASE	SQYD	\$7.550	1,123	\$8,478.65
	0055	3049905	MISC.RIGID GEOGRID	SQYD	\$1.970	2,246	\$4,424.62
	0070	6161005	CONSTRUCTION SIGNS	SQFT	\$6.300	412	\$2,595.60
	0800	6161008	ADVANCED WARNING RAIL SYSTEM	EA	\$47.250	4	\$189.00
	0090	6161025	CHANNELIZER (TRIM LINE)	EA	\$15.750	15	\$236.25
	0100	6161030	TYPE III MOVEABLE BARRICADE	EA	\$78.750	10	\$787.50
	0120	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	EA	\$1,050.000	3	\$3,150.00
	0130	6181000	MOBILIZATION	LS	\$46,215.080	0.5	\$23,107.54
	0165	6240104A	SEPARATION GEOTEXTILE	SQYD	\$2.240	1,123	\$2,515.52
Project JSE	M0003 - 1	Γotal					\$81,205.40

### Contract Adjustments This Estimate

Overall - Total

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Revision 4/1/2020 Page 1 of 9



### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 1, 2022

Progress Estimate Number
1 Contract ID 220415-H09 Prime Contractor C-Hill Civil Contractors, Inc. Pay Period Start See NTP Date Original Contract Amount August 1, 2022 Net Change Order Amount Current Contract Amount Current Contract Amount \$206,931.53

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JSEM0003	0040	FURNISHING ROCK BASE MATERIAL	Overrun			-55	\$17.41	(\$957.55)
	0050	PLACING ROCK BASE	Overrun			-55	\$7.55	(\$415.25)
	0055	MISC.	Overrun			-1,131.6	\$1.97	(\$2,229.25)
	0055	MISC.	Overrun			-46.4	\$1.97	(\$91.41)
	0055	MISC.	Material			-2,246	\$1.97	(\$4,424.62)
	0055	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user bollis1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	2,246	\$1.97	\$4,424.62
	0070	CONSTRUCTION SIGNS	Material			-412	\$6.30	(\$2,595.60)
	0070	CONSTRUCTION SIGNS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0008) due to user bollis1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	412	\$6.30	\$2,595.60
	0800	ADVANCED WARNING RAIL SYSTEM	Material			-4	\$47.25	(\$189.00)
	0080	ADVANCED WARNING RAIL SYSTEM	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0009) due to user bollis1 overridding Payment Estimate Exception 4 on the current Payment Estimate.	4	\$47.25	\$189.00
	0090	CHANNELIZER (TRIM LINE)	Material			-15	\$15.75	(\$236.25)
	0090	CHANNELIZER (TRIM LINE)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0010) due to user bollis1 overridding Payment Estimate Exception 5 on the current Payment Estimate.	15	\$15.75	\$236.25
	0100	TYPE III MOVEABLE BARRICADE	Material			-10	\$78.75	(\$787.50)
	0100	TYPE III MOVEABLE BARRICADE	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0011) due to user bollis1 overridding Payment Estimate Exception 6 on the current Payment Estimate.	10	\$78.75	\$787.50
	0120	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	Material			-3	\$1,050.00	(\$3,150.00)
	0120	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0012) due to user bollis1 overridding Payment Estimate Exception 7 on the current Payment Estimate.	3	\$1,050.00	\$3,150.00
	0165	SEPARATION GEOTEXTILE	Overrun			-55	\$2.24	(\$123.20)
	0165	SEPARATION GEOTEXTILE	Material			-1,123	\$2.24	(\$2,515.52)
	0165	SEPARATION GEOTEXTILE	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0007) due to user bollis1 overridding Payment Estimate Exception 8 on the current Payment Estimate.	1,123	\$2.24	\$2,515.52
Total								(\$3,816.66)

Revision 4/1/2020 Page 2 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Contract Project Information
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work
JSEM0003		Pavement repair	AB	CAPE GIRARDEAU	2.1 miles east of Route 25 at the BNSF Railroad intersection

JSEM0003	Pavement repair	AB	CAPE GIRARDEAU	2.1 miles east of Ro	ute 25 at the BNSF Railroa	d intersection
otals by Job	Numbers					
JSEM0003				This Estimate	Previous	To Date
	Posted Item Pay			\$81,205.40	\$0.00	\$81,205.40
	Gross Item Adjustme	ents		(\$3,816.66)	\$0.00	(\$3,816.66)
		Gross	Item Pay	\$77,388.74	\$0.00	\$77,388.74
	Incentive			\$0.00	\$0.00	\$0.00
	Disincentive			\$0.00	\$0.00	\$0.00
	Liquidated Damages			\$0.00	\$0.00	\$0.00
	Other Contract Adjus	stments		\$0.00	\$0.00	\$0.00

Revision 4/1/2020 Page 3 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JSEM0003, Item 3049905, Project Item Line Number 0055, Material Set 304990596, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	No Remark was entered by Engineer	bollis1	Overridden
Estimate Exception Type: Insufficient Materials: Project JSEM0003, Item 3049905, Project Item Line Number 0055, Material Set 304990596, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	No Remark was entered by Engineer	bollis1	Overridden
Estimate Exception Type: Insufficient Materials: Project JSEM0003, Item 6161005, Project Item Line Number 0070, Material Set 616100596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	No Remark was entered by Engineer	bollis1	Overridden
Estimate Exception Type: Insufficient Materials: Project JSEM0003, Item 6161008, Project Item Line Number 0080, Material Set 616100896, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	No Remark was entered by Engineer	bollis1	Overridden
Estimate Exception Type: Insufficient Materials: Project JSEM0003, Item 6161025, Project Item Line Number 0090, Material Set 616102596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	No Remark was entered by Engineer	bollis1	Overridden
Estimate Exception Type: Insufficient Materials: Project JSEM0003, Item 6161030, Project Item Line Number 0100, Material Set 616103096, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	No Remark was entered by Engineer	bollis1	Overridden
Estimate Exception Type: Insufficient Materials: Project JSEM0003, Item 6161098A, Project Item Line Number 0120, Material Set 6161098A96, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	No Remark was entered by Engineer	bollis1	Overridden
Estimate Exception Type: Insufficient Materials: Project JSEM0003, Item 6240104A, Project Item Line Number 0165, Material Set 6240104A96, Material 1011GXT4 - Geotextile Fabric for Separation (T4), Acceptance Action Generic 1011GXT4 is insufficient.	No Remark was entered by Engineer	bollis1	Overridden
Estimate Exception Type: Item Overrun: Contract 220415-H09, Contract Project JSEM0003, Project Item Line Number 0055, Contract Line Item Number 0055, Item 3049905, Minor Item.	No Remark was entered by Engineer	bollis1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 220415-H09, Contract Project JSEM0003, Project Item Line Number 0040, Contract Line Item Number 0040, Item 3030600, Minor Item.	No Remark was entered by Engineer	bollis1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 220415-H09, Contract Project JSEM0003, Project Item Line Number 0050, Contract Line Item Number 0050, Item 3030610A, Minor Item.	No Remark was entered by Engineer	bollis1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 220415-H09, Contract Project JSEM0003, Project Item Line Number 0165, Contract Line Item Number 0165, Item 6240104A, Minor Item.	No Remark was entered by Engineer	bollis1	Acknowledged

Revision 4/1/2020 Page 4 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Im.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
20415-H09	JSEM0003	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$16,169.29	\$16,169.29
		0001	0020	2071000	LINEAR GRADING CLASS 1	2.60	0.00	2.60	STA	0.00	\$1,283.81	\$0.00
		0001	0030	2101006A	SUBGRADE COMPACTION (6-INCH DEPTH)	3.00	0.00	3.00	100F	0.00	\$3,095.84	\$0.00
		0001	0040	3030600	FURNISHING ROCK BASE MATERIAL	1,068.00	0.00	1,068.00	SQYD	1,123.00	\$17.41	\$19,551.43
		0001	0050	3030610A	PLACING ROCK BASE	1,068.00	0.00	1,068.00	SQYD	1,123.00	\$7.55	\$8,478.65
		0001	0055	3049905	MISC.RIGID GEOGRID	1,068.00	0.00	1,068.00	SQYD	2,246.00	\$1.97	\$4,424.62
		0001	0060	6139905	MISC.RAPID STRENGTH CONCRETE PAVEMENT	1,068.00	0.00	1,068.00	SQYD	0.00	\$84.04	\$0.00
		0001	0070	6161005	CONSTRUCTION SIGNS	658.00	0.00	658.00	SQFT	412.00	\$6.30	\$2,595.60
		0001	0080	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	4.00	\$47.25	\$189.00
		0001	0090	6161025	CHANNELIZER (TRIM LINE)	20.00	0.00	20.00	EA	15.00	\$15.75	\$236.25
		0001	0100	6161030	TYPE III MOVEABLE BARRICADE	10.00	0.00	10.00	EA	10.00	\$78.75	\$787.50
		0001	0110	6161033	DIRECTIONAL INDICATOR BARRICADE	15.00	0.00	15.00	EA	0.00	\$10.50	\$0.00
		0001	0120	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	4.00	0.00	4.00	EA	3.00	\$1,050.00	\$3,150.00
		0001	0130	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.50	\$46,215.08	\$23,107.54
		0001	0140	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	541.00	0.00	541.00	LF	0.00	\$0.63	\$0.00
		0001	0150	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,074.00	0.00	1,074.00	LF	0.00	\$0.63	\$0.00
		0001	0160	6206124A	24 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	24.00	0.00	24.00	LF	0.00	\$8.40	\$0.00
		0001	0165	6240104A	SEPARATION GEOTEXTILE	1,068.00	0.00	1,068.00	SQYD	1,123.00	\$2.24	\$2,515.52
	Project JSEM0003 - Total Value Posted to Date as of Report Generated Date										\$81,205.40	
415-H09 Ove	rall - Total V	alue Poste	d to Date	as of Report	Generated Date							\$81,205.40

Revision 4/1/2020 Page 5 of 9



### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JSEM0003

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	2022010	REMOVAL OF IMPROVEMENTS	7/25/22	7/28/22	0.25	LS	Rte AB Cape County	2.098	Right of Center	2.118	Right of Center	Removal of 90' guardrail and post
				7/28/22	0.25	LS	Rte AB Cape County	2.220	Left of Center	2.138	Left of Center	Removal of 90' guardrail and post
			7/26/22	7/28/22	0.25	LS	Rte AB Cape County	2.204	Lt/Rt of Center	2.128	Lt/Rt of Center	Removal of pavement west of R/R crossing
			7/29/22	8/1/22	0.25	LS	Rte AB Cape County East Section	2.130	Lt/Rt of Center			Removal of existing pavement east side of R/R
0040	3030600	FURNISHING ROCK BASE MATERIAL	7/28/22	7/28/22	565.80	SQYD	Rte AB Cape County West Section	2.129	Lt/Rt of Center			134' X 38' / 9 = 565.8 SY
			8/1/22	8/1/22	-0.10	SQYD	Rte AB Cape County East Section	2.129	Lt/Rt of Center			rounding
				8/1/22	557.30	SQYD	Rte AB Cape County East Section	2.129	Lt/Rt of Center			132' X 38' / 9 = 557.3 SY
0050	3030610A	PLACING ROCK BASE	7/28/22	7/28/22	565.80	SQYD	Rte AB Cape County West Section	2.129	Lt/Rt of Center			134' X 38' / 9 = 565.8 SY
			8/1/22	8/1/22	-0.10	SQYD	Rte AB Cape County East Section	2.129	Lt/Rt of Center			rounding
				8/1/22	557.30	SQYD	Rte AB Cape County East Section	2.129	Lt/Rt of Center			132' X 38' / 9 = 557.3 SY
0055	3049905	MISC. AGGREGATE FOR BASE	7/28/22	7/28/22	565.80	SQYD	Rte AB Cape County West Section	2.129	Lt/Rt of Center			134' X 38' / 9 = 565.8 SY First lift of geogrid. 4" above fabric.
				7/28/22	565.80	SQYD		2.129	Lt/Rt of Center			134' X 38' / 9 = 565.8 SY Second layer of geogrid. 6" above first layer, 8" under to of base rock.
			8/1/22	8/1/22	-0.20	SQYD	Rte AB Cape County	2.129	Lt/Rt of Center			rounding
				8/1/22	557.30	SQYD	Rte AB Cape County East Section	2.129	Lt/Rt of Center			132' X 38' / 9 = 557.3 SY First Layer
				8/1/22	557.30	SQYD	Rte AB Cape County East Section	2.129	Lt/Rt of Center			132' X 38' / 9 = 557.3 SY Second Layer
0070	6161005	CONSTRUCTION SIGNS	7/22/22	8/1/22	412.00	SQFT	Rte AB Cape County	2.104				sign template used
0800	6161008	ADVANCED WARNING RAIL SYSTEM	7/22/22	8/1/22	1.00	EA	Rte AB Cape County	1.817	Right of Center			Road Closed Ahead
				8/1/22	1.00	EA	Rte AB Cape County	1.914	Right of Center			Road Closed 500'
				8/1/22	1.00	EA	Rte AB Cape County	7.122	Right of Center			Road Closed Ahead
				8/1/22	1.00	EA	Rte AB Cape County	7.227	Right of Center			Road Closed 500'
0090	6161025	CHANNELIZER (TRIM LINE)	7/22/22	8/1/22	5.00	EA	Rte AB Cape County	0.144	Right of Center			placed with CMS
				8/1/22	5.00	EA	Rte AB Cape County	4.018	Right of Center			Placed with CMS
			7/27/22	7/28/22	5.00	EA	Rte 25 Cape County	79.674	Right of Center			placed around CMS near round about for east bound detour
0100	6161030	TYPE III MOVEABLE BARRICADE	7/22/22	8/1/22	1.00	EA	Rte AB Cape County	0.00	Right of Center			R11-3a sign on barricade
				8/1/22	1.00	EA	Rte AB Cape County	5.745	Right of Center			R11-3a sign on barricade
				8/1/22	4.00	EA	Rte AB Cape County	2.01	CL			Road Closed sign on barricade
				8/1/22	4.00	EA	Rte AB Cape County	7.347	CL			Road Closed sign on barricade
0120	6161098A	CMS W/O COMMUNICATION INTERFACE, CONT F/	7/22/22	8/1/22	1.00	EA	Rte AB Cape County	2.01	Right of Center			Placed with 5 trimlines
				8/1/22	1.00	EA	Rte AB Cape County	4.018	CL			Placed with 5 Trim ines
			7/27/22	7/28/22	1.00	EA	Rte 25 Cape County	79.674	Right of Center			placed near round about for east bound detour
0130	6181000	MOBILIZATION	8/1/22	8/1/22	0.50	LS	Rte AB Cape County	2.129	Lt/Rt of Center			first two installments, contract 20% complete
0165	6240104A	SEPARATION GEOTEXTILE	7/27/22	7/28/22	565.80	SQYD	Rte AB Cape County West section	2.129	Lt/Rt of Center			134' X 38' / 9 = 565.8 SY
			7/29/22	8/1/22	-0.10	SQYD	Rte AB Cape County	2.129	Lt/Rt of Center			Rounding
				8/1/22	557.30	SQYD	Rte AB Cape County East Section	2.129	Lt/Rt of Center			132' X 38' / 9 = 557.3 SY

٠	information below this line are details for Construction Signs (if applicable).

roject	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Post
M0003	0070	July 22, 2022	412	R11-3a 60x30 12.50 ROAD CLOSED XX MILES AHEAD LOCAL TRAFFIC ONLY		0.000	Rte AB East	1.00	12.50			12.5
				Variable ??x?? 1.00 SPECIAL SIGN BY QUANTITY OF SQUARE FEET		8.997	Rte A West	27.69	1.00	Detour assembly 50B	27.69	27.6
				Variable ??x?? 1.00 SPECIAL SIGN BY QUANTITY OF SQUARE FEET		1.724	Rte M West	27.69	1.00	Detour assembly 50A	27.69	27.6
				WO20-3 48x48 16.00 ROAD CLOSED AHEAD		1.817	Rte AB East	1.00	16.00			16.0
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		1.914	Rte AB East	1.00	16.00			16.0
				WO16-2 30x24 5.00 XXX FEET (PLAQUE)		1.914	Rte AB East	1.00	5.00			5.0
				WO20-2 48x48 16.00 DETOUR AHEAD		117.235	155 SB	1.00	16.00			16.0
				Variable ??x?? 1.00 SPECIAL SIGN BY QUANTITY OF SQUARE FEET		117.606	155 SB	27.69	1.00	Detour assembly 50A	27.69	27.6
				Variable ??x?? 1.00 SPECIAL SIGN BY QUANTITY OF SQUARE FEET		118.886	155 SB	27.69	1.00	Detour assembly 50A	27.69	27.6
				Variable ??x?? 1.00 SPECIAL SIGN BY QUANTITY OF SQUARE FEET		119.536	155 SB	27.69	1.00	Detour assembly 50B	27.69	27.6
				R11-2 48x30 10.00 ROAD CLOSED		2.01	Rte AB East	1.00	10.00			10.0
				Variable ??x?? 1.00 SPECIAL SIGN BY QUANTITY OF SQUARE FEET		4.449	Rte M West	27.69	1.00	Detour assembly 50A	27.69	27.6
				R11-3a 60x30 12.50 ROAD CLOSED XX MILES AHEAD LOCAL		5.745	Rte AB West	1.00	12.50			12.5

Revision 4/1/2020 Page 6 of 9



### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

The information below this line are details for Construction Signs (if applicable)

THE IIIIOIIII	ation below i	nis line are c	letails for Construction Signs (if	applicable).								
Project	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Post
JSEM0003	0070	July 22, 2022	412	TRAFFIC ONLY								
				Variable ??x?? 1.00 SPECIAL SIGN BY QUANTITY OF SQUARE FEET		69.543	Mo 77 North	27.69	1.00	Detour assembly 50A	27.69	27.69
				WO20-3 48x48 16.00 ROAD CLOSED AHEAD		7.122	Rte AB West	1.00	16.00			16.00
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		7.227	Rte AB West	1.00	16.00			16.00
				WO16-2 30x24 5.00 XXX FEET (PLAQUE)		7.227	Rte AB West	1.00	5.00			5.00
				R11-2 48x30 10.00 ROAD CLOSED		7.347	Rte AB West	1.00	10.00			10.00
				Variable ??x?? 1.00 SPECIAL SIGN BY QUANTITY OF SQUARE FEET		7.597	Rte M West	27.69	1.00	Detour assembly 50A	27.69	27.69
				Variable ??x?? 1.00 SPECIAL SIGN BY QUANTITY OF SQUARE FEET		7.965	Rte M West	27.69	1.00	Detour assembly 50B	27.69	27.69
				Variable ??x?? 1.00 SPECIAL SIGN BY QUANTITY OF SQUARE FEET		0.189	155 SB to Bus. 61	27.69	1.00	Detour assembly 50B	27.69	27.69
	0070 - Total											411.9

Revision 4/1/2020 Page 7 of 9



# Line Item Adjustments by Estimate

# Contract ID:190215-D05

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JSEM0003	0040	FURNISHING ROCK BASE MATERIAL	Overrun	Overrun	1	Aug 2, 2022	SYSTEM	(\$957.55)	
				Overrun - To	otal			(\$957.55)	
			Overrun - Total					(\$957.55)	
	0040	- Total						(\$957.55)	
	0050	PLACING ROCK BASE	Overrun	Overrun		Aug 2, 2022	SYSTEM	(\$415.25)	
				Overrun - Total				(\$415.25) (\$415.25)	
			Overrun - Total						
		- Total						(\$415.25)	
	0055	MISC. AGGREGATE FOR BASE	Material		1	Aug 2, 2022	SYSTEM	\$4,424.62	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user bollis1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					1	Aug 2, 2022	SYSTEM	(\$4,424.62)	
				- Total				\$0.00	
			Material - Total					\$0.00	
			Overrun	Overrun		Aug 2, 2022	SYSTEM	(\$2,320.66)	
				Overrun - To	otal			(\$2,320.66)	
			Overrun - T	otal				(\$2,320.66)	
	0055	- Total						(\$2,320.66)	
	0070	CONSTRUCTION SIGNS	Material		1	Aug 2, 2022	SYSTEM	\$2,595.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user bollis1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					1	Aug 2, 2022	SYSTEM	(\$2,595.60)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	0070	- Total						\$0.00	
	0080	ADVANCED WARNING RAIL SYSTEM	Material		1	Aug 2, 2022	SYSTEM	\$189.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user bollis1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					1	Aug 2, 2022	SYSTEM	(\$189.00)	
				- Total					
			Material - Total					\$0.00	
	0000		Material - To	otal				\$0.00	
	0000	- Total	Material - To	otal					
	0090	- Total CHANNELIZER (TRIM LINE)		otal	1	Aug 2, 2022	SYSTEM	\$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user bollis1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
		CHANNELIZER			1	Aug 2, 2022 Aug 2, 2022	SYSTEM	\$0.00 \$0.00 \$236.25 (\$236.25)	Estimate Item Adjustment (0010) due to user bollis1 overridding Payment
		CHANNELIZER	Material	- Total		2022 Aug 2,		\$0.00 \$0.00 \$236.25 (\$236.25)	Estimate Item Adjustment (0010) due to user bollis1 overridding Payment
	0090	CHANNELIZER (TRIM LINE)		- Total		2022 Aug 2,		\$0.00 \$0.00 \$236.25 (\$236.25) \$0.00	Estimate Item Adjustment (0010) due to user bollis1 overridding Payment
	0090	CHANNELIZER	Material	- Total		2022 Aug 2,		\$0.00 \$0.00 \$236.25 (\$236.25)	Estimate Item Adjustment (0010) due to user bollis1 overridding Payment
	0090	CHANNELIZER (TRIM LINE)	Material	- Total		2022 Aug 2,		\$0.00 \$0.00 \$236.25 (\$236.25) \$0.00	Estimate Item Adjustment (0010) due to user bollis1 overridding Payment
	0090	CHANNELIZER (TRIM LINE)  - Total  TYPE III MOVEABLE	Material  Material - To	- Total	1	Aug 2, 2022	SYSTEM	\$0.00 \$0.00 \$236.25 (\$236.25) \$0.00 \$0.00	Estimate Item Adjustment (0010) due to user bollis1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user bollis1 overridding Payment
	0090	CHANNELIZER (TRIM LINE)  - Total  TYPE III MOVEABLE	Material  Material - To	- Total	1	Aug 2, 2022  Aug 2, 2022  Aug 2, 2022  Aug 2,	SYSTEM	\$0.00 \$0.00 \$236.25 (\$236.25) \$0.00 \$0.00 \$787.50	Estimate Item Adjustment (0010) due to user bollis1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user bollis1 overridding Payment
	0090	CHANNELIZER (TRIM LINE)  - Total  TYPE III MOVEABLE	Material  Material - To	- Total otal - Total	1	Aug 2, 2022  Aug 2, 2022  Aug 2, 2022  Aug 2,	SYSTEM	\$0.00 \$0.00 \$236.25 (\$236.25) \$0.00 \$0.00 \$787.50	Estimate Item Adjustment (0010) due to user bollis1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user bollis1 overridding Payment
	0090	CHANNELIZER (TRIM LINE)  - Total  TYPE III MOVEABLE	Material  Material - To	- Total otal - Total	1	Aug 2, 2022  Aug 2, 2022  Aug 2, 2022  Aug 2,	SYSTEM	\$0.00 \$0.00 \$236.25 (\$236.25) \$0.00 \$0.00 \$787.50 \$0.00	Estimate Item Adjustment (0010) due to user bollis1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user bollis1 overridding Payment
	0090	CHANNELIZER (TRIM LINE)  - Total  TYPE III  MOVEABLE BARRICADE	Material  Material - To	- Total otal - Total	1	Aug 2, 2022  Aug 2, 2022  Aug 2, 2022  Aug 2,	SYSTEM	\$0.00 \$0.00 \$236.25 (\$236.25) \$0.00 \$0.00 \$787.50 (\$787.50)	Estimate Item Adjustment (0010) due to user bollis1 overridding Payment Estimate Exception 5 on the current Payment Estimate.  This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user bollis1 overridding Payment

Aug 4, 2022



# Line Item Adjustments by Estimate

# Contract ID:190215-D05

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JSEM0003	0120	CMS W/O COMMUNICATION INTERFACE, CONT F/	Material	- Total				\$0.00	
			Material - Total					\$0.00	
		Total						\$0.00	
	0165	SEPARATION GEOTEXTILE	Material		1	Aug 2, 2022	SYSTEM	\$2,515.52	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user bollis1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					1	Aug 2, 2022	SYSTEM	(\$2,515.52)	
				- Total				\$0.00	
			Material - Total					\$0.00	
			Overrun	Overrun	1	Aug 2, 2022	SYSTEM	(\$123.20)	
				Overrun - Total				(\$123.20)	
			Overrun - Total					(\$123.20)	
	0165 - Total								
JSEM0003 - Total								(\$3,816.66)	
Overall - Total								(\$3,816.66)	